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Instructions for the Candidates
Write your roll number in the space provided on the top of this page.
This paper consists of seventy five multiple-choice type of questions.
At the commencement of examination, the question booklet will
be given to you. In the first 5 minutes, you are requested to
open the booklet and compulsorily examine it as below :

(i) To have access to the Question Booklet, tear off the paper
seal on the edge of the cover page. Do not accept a
booklet without sticker seal or open booklet.

(i) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the Question
Booklet will be replaced nor any extra time will be given.

Each item has four alternative responses marked (A), (B), (C)

and (D). You have to darken the circle as indicated below on
the correct response against each item.

® & @ O

where (C) is the correct response.

Example :

Your responses to the question of Paper Ill are to be indicated
in the OMR Sheet kept inside the Booklet. If you mark at any
place other than in the circles in OMR Sheet, it will not be
evaluated.

Read the instructions given in OMR carefully.

Rough Work is to be done in the end of this booklet.

If you write your name or put any mark on any part of the OMR
Answer Sheet, except for the space allotted for the relevant
entries, which may disclose your identity, you will render yourself
liable to disqualification.

You have to return the test OMR Answer Sheet to the invigilators
at the end of the examination compulsorily and must NOT
carry it with you outside the Examination Hall.

You can take away question booklet and carbon copy of
OMR Answer Sheet after the examination.

Use of any calculator, Electronic gadgets or log table etc.,
is prohibited.

There is no negative marks for incorrect answers.

In case of any discrepancy found in the Kannada
translation of a question booklet the question in English

' somuode QoNeR® wséﬂeﬁe&@de eoama?ozsa sammses; version shall be taken as final.
cK-0817 3.8.25¢./P.T.O.
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Note : This paper contains seventy-five (75) objective type questions. Each question
carries two (2) marks. All questions are compulsory.

1. Which one of the following statements is 5. Which of the cultural period was not

wrong ?
(A) LANDSAT is a geo-stationary satellite
(B) IRS is a sun-synchronous satellite
(C) INSAT is a geo-stationary satellite
(D) SPOT is a sun-synchronous satellite

. The scale of the aerial photographs of a

included during the prehistoric age ?
(A) Raubenhasion cultural period
(B) Pre-chailian cultural period

(C) Chailian cultural period

(D) Eshulian cultural period

. From East to West, which one of the

following sequences of cities of Canada

flat terrain depends upon is correct ?
1. Height of the aircraft (A) Quebec — Montreal — Ottawa —
2. Focal length of the camera Toronto
. r
) J (B) Montreal — Quebec — Ottawa —
(A) 1istrue Toronto
(B) 2istrue (C) Quebec — Montreal — Toronto —
(C) Both are true Ottawa
(D) Both are false (D) Montreal — Quebec — Toronto —
Ottawa

3. The development of ancient civilizations 7. The Dayak ethnic group is found in
in Egypt, Mesopotamia, India and China (A) Bali
indicate the importance of

(B) Borneo
(A) Heavy forestation (C) Tenggara Sunda Islands
(B) Mountain passes (D) West Timor
(C) R.ugged coast lines 8. Consider the following Tribes :
(D) River valleys 1. Abujhmaria
4. The Rimland theory was given by 2. Bhotia
3. Gaddi

(A) W.M. Davis
For which of the above tribes is the

(B) Spykman economic activity mainly pastoral herding ?

(C) Dutton (A) tand2only  (B) 2 and 3 only

(D) Ratzel (C)1tand3only (D) 1,2and 3
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9. Which one of the following regions is
culturally closer to India but ethnically
related to China ?

(A) Central Asia
(B) Polynesia

(C) West Asia

(D) South East Asia

10. Match List —1 with List — Il and select the
correct answer using the codes given
below the lists :

List -1 List—II
a. Shifting cultivation 1. Pygmies
b. Pastoralism 2. Eskimos
c. Hunters and food 3. Kirghiz
gatherer
d. Hunters 4. Rengmas
Codes :
a b c d
(A) 1 2 3 4
B) 1 3 2 4
C 4 1 3 2
(D) 4 3 1 2

11. Assertion (A) : If a surveyor is to select
for surveying, only one instrument out of
Dumpy level and theodolite, he will
select the theodolite.

Reason (R) : Theodolite can perform both
horizontal and vertical measurements.
Codes :
(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is
not a correct explanation of (A)
(C) (A)istrue but (R) is false
(D) (A) is false but (R) is true
K-0817
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12. Which one of the following countries
does not border the Caspian Sea ?

(A) Azerbaijan (B) Iran
(C) Iraq (D) Kazakhstan

13. Match List —1 with List — Il and select the
correct answer from the codes given

below :
List-1 List—1I

(Country) (Capital)
a. Bolivia 1. Buenos Aires
b. Argentina 2. La Paz
c. Chile 3. Lima

d. Peru 4. Santiago
Codes :

a b c d

(A) 2 1 3 4

B) 2 1 4 3

(&) 2 3 4

(D) 4 1 2 3

14. Amongthe SAARC countries, the highest
agricultural productivity (cereals) per unit
area isin

(A) Bangladesh
(C) Pakistan

(B) India
(D) Sri Lanka

15. The pairs of lands separated by Ten
Degree Channel is

(A) Andaman and Nicobar

(B) Nicobar and Sumatra

(C) Car Nicobar and Little Nicobar

(D) Little Andaman and Middle Andaman
Paper Il
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16. Match List —1 with List — Il and select the
correct answer from the codes given
below the lists :

List-1 List-1I

(Tribes) (States)
a. Khasis 1. Andhra Pradesh
b. Gonds 2. Karnataka
c. Gadabas 3. Madhya Pradesh
d. Kurubas 4. Meghalaya
Codes :

a b c d

(A) 4 3 1 2
(B) 2 3 4 1
< 1 4 3 2
(D) 2 1 4 3

17. The language of the Sino-Tibetan family
included in the 8" Schedule of our
Constitution recently is

(A) Miri (B) Kinnauri
(C) Bodo (D) Naga

18. MacMohan Line between India and Tibet
was demarcated in

(A) 1912
(C) 1916

(B) 1914
(D) 1918

19. The statement “State is an organic unit”
was made by

(A) Ratzel
(C) Ritter

(B) Humboldth
(D) Blashe

20. Who used locational triangle for the
theory of industrial location ?

(A) Hoteling (B) Losch
(C) Webar (D) Christaller
K-0817
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21. Match List — I with List — ll, select the
correct answer using the codes given
below :

List—1 List—II
(Country) (Name of shifting
cultivation)
l. India 1. Ladang
Il. Brazil 2. Milpa
lIl. Middle America 3. Roco
IV. Indonesia 4. Jhuming
Codes :
I | i Iv
(A) 1 2 3 4
(B) 3 2 1 4
(C) 4 3 2 1
(D) 1 4 2 3

22. Match List — | with List — Il select the
correct answers using the codes given

below :
List-1 List-1I
(Reason for town (Towns)
development)
l. Defensive site 1. Chennai
Il. Religious 2. Gwalior
lIl. Harbours 3. Kara Koram

IV. Mountain crossing 4. Amritsar

Codes :
I | [} Iv
(A) 1 2 3 4
(B) 4 3 2 1
(C) 2 4 1 3
(D) 3 1 4 2
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23. Match List — | with List — ll, select the
correct answers using the codes given
below :

List -1 List—II
(Reason for town (Towns)
development)
I. Trade route 1. London
Il. Navigable river 2. Singapore
lIl. Transhipment 3. Ajmer
IV. River estuary 4. Allahabad
Codes :
| Il [} v
(A) 1 2 3 4
B) 4 3 2 1
Cc) 2 1 4 3
(D) 3 4 2 1

24. Assertion (A) : Ahmadabad is a major
centre of sick cotton textile industry.

Reason (R) : Cotton require by the
industry is grown on large scale in black
cotton soil around it.

Codes :
(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is
not correct explanation of (A)
(C) (A)istrue but (R) is false
(D) (A) is false but (R) is true

25. Which section of the Himalayas is the
longest ?

(A) Punjab Himalaya

(B) Kumaon Himalaya
(C) Assam Himalaya

(D)

K-0817
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26. Rubber plantations are found in
(A) Temperate forest region
(B) Steppe forest
(C) Pampas
(D) Equatorial forest region

27. Assertion (A) : Japan is one of the
leading countries of the world in fish
catch.

Reason (R) : Around Japan, the
continental shelf is very wide.
Codes :
(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)
(B) Both (A) and (R) are true and (R) is
not the correct explanation of (A)
(C) (A)istrue but (R) is false
(D) (A) is false but (R) is true

28. Which of the statement given below are
correct ?

1. Black soil is also known as regur soil.

2. Black soil is very retentive to
moisture.

3. In India 16% of the geographical

area is covered in the black soil.
(A) 1 only

(B) 1 and 2 only
(C) 1,2and 3
(D) 2 and 3 only

Paper Il
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29. Match List — I with List — ll, select the
correct answer using the codes given
below :

List-1 List-II
(Canal) (Joining stations)

1. North sea with
Rosterdam

|. Suez canal

Il. North sea canal 2. Mediterranean
with Red sea

3. Pacific with
Atlantic ocean

4. North sea with

lll. Panama canal

IV. New shipping

canal Amsterdam
Codes :
I | [} Iv
(A) 1 2 4 3
(B) 4 3 2
(C) 1 2 3 4
(D) 2 4 3 1

30. Assertion (A): The city grows outwards
in the form of five concentric zones
according to E. Burgess.

Reason (R) : Out growth of the city
implies that there are no physical barriers.
Codes :
(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)
(B) Both (A) and (R) are true and (R) is
not the correct explanation of (A)
(C) (A)istrue and (R) is false
(D) (A) is false and (R) is true
K-0817
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31. In central place theory, K =7 denotes
(A) Marketing
(B) Transportation
(C) Administration
(D) Marketing and Administration

32. Match List — I with List — ll, select the
correct answer using the codes given
below :

List -1 List—1I
(Scholars) (Theories)
l. Webber 1. Population Theory

II. Von Thunen 2. Industrial Location

Theory
lIl. Christaller 3. Agricultural
Location
IV. Malthus 4. Central Place
Theory
Codes :
I | [} v
(A) 1 3 2 4
B) 2 3 4 1
< 2 4 3 1
(D) 1 4 2 3

33. Which of the statement given below are
correct ?

1. A census town should have a
minimum population of 5000 persons.

2. A census town should have atleast
75% of male working population in
non-agricultural activity.

3. A census town should have a
density of population of atleast
1000 person per sg.km.

(A) 1tand2only (B) 2and 3 only
(C) tand3only (D) 1,2and3
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34. The census town of Class Ill, has a
population size of

(A) 20,000 to 49,999

(B) 10,000 to 19,999
(C) 5,000 to 9,999
(D) Less than 5,000
35. Match List — | with List — Il, select the
correct answer using the codes given
below :
List—1 List—1I
(Scholars) (Country)
l. Alexander Von 1. Britain
Humboldt
Il. Jean Gottman 2. Germany
lll. Ellen Simple 3. France
IV. Peter Hagget 4. USA
Codes :
I | ] Iv
(A) 1 2 3 4
(B) 1 4 2 3
(C) 2 3 4 1
(D) 2 4 3 1

36. The route of the arithmetic average of the
squares of the deviations measured from
the mean is known as

(A) Mean deviation

(B

(C

(D) Step deviation
K-0817

Quartile deviation

Standard deviation

)
)
)
)
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37. The co-efficient of correlation always
varies between two limits i.e.

(A) Oand 5
(C) -5and +5

(B) 0and +1
(D) +1 and -1

38. An example for multivariate statistical

technique is
(A) Correlation

B) Regression

(B)
(C) Co-efficient of variation
(D)

D) Principal component method

39. Match the following :

(Geographer)
a. Blache

b. Ratzel
c. Mackinder

d. Griffith Taylor

(School of thought)

1. American school
of thought

2. British school of
thought

3. German school of
thought

4. French school of
thought

- N W = 0
A =2 AN Q

40. Which one of the following is not correctly

Codes :

a b
(A) 4 3
B) 1 2
(C) 4 3
(D) 3 2
matched ?
(A) Sauer

(B) Hettener
(C) Herbertson
(D) Mackinder

Landscape
Morphology

Positivism

Natural Regions

Heartland Theory
Paper Il



R T A
41. 3R ira%dad @oémfchjé% 220, PRNRS
m@a@d@{ OO,

1. s2@3 s Prnieed, @roon 13e S
DR, T3, BRTROTY, VRS,

2. 58 H03RCTE F 3308 D03 &3 BTeBNn
SRIF Q0T BRI, FoBOLRT
RRTON.

3. =2 SEES TOTT M.

4. =3 ﬁmwﬂ BN w.@w. BT B3
SR SRR,

& RRNRY m#g@ DA

(A) =0T Fos®

(B) wdera o%é,gpe

(C) @R, g0

(D) Barmow o¥RFES

42. T[T ATROTE WY CBRFT B0 ?
1. oo SR TRIR) SRRORIS
2. e SRMEIE BRIDR) RO
3. &0 AP 0T TH0NI) IR0
BINT BoBFeINTTY, wvBedReN FOERT
QUZTHY, 03, [RE.
(A) 1333 (B) 2 =33
(C) 233y 1 (D) 1,2 3323

43. O30® 008 YT D03 WTEDN 0330 Oed
QT3 QOT SORITS TS oédabq &oerioTd
680333@0”.

(A) a3 RTROZ
(B) o2WRE AR08
(C) RLT°QUXE ATVOZ
(D) =ogeess ﬁ’bm%oé

Paper Il

44,

45.

46.

47.

48.

Total Number of Pages : 24

Q. R, VYT WOT THTO FRUWTOT W
uﬁ#o&éj/ #om’d@@r{%} TEeBNY #o&iag

(A) 5 (B) 7
) 9 (D) 11
. D. :)’Dwap’ofo’a’o’o DOF %)m@oa’a’a’oq
&oeri0T0 3303083

(A) TS 537 O | 7,

(B) RTe030T* BB

(C) QoL3T IIONT 355030 83 BRI
(D) & ML BRE*

030 BRTO 0T BOTRPE WINEE
SEEE),

(A) 1901 (B) 1891

(C) 1881 (D) 1871

WISTY wIW02Y, PN T T
ARTERZT RUEY, RS 08 FoZR TS
BeOTINIR),  SToRRT BT Perieed

(A) Boren@  Toe) 3,0, A0
(B) ToTom0d  W.3eEF.O3.
(C) 39, 23,0 o3
(D) @3, TOTRF® DFDTROOD

D TRTRET 1) TSR 303N 0w
DFosDY, WITHD

(A) woeFF 3. TR
(B) oo . 363
(C) QT HEFR,
(D) oowerr R

K-0817



41. |dentify the geographer from the facts
given below :

1. His contribution is in physical
geography especially
geomorphology.

2. He was the first to point not
difference between Fiord and Ria
consts.

3. He was the teacher of Albert Penk.
4. He worked largely with W.M. Davis.

The name of the Geographer is
(A) Walter Penk

(B) Alfred Hettener
(C) L.C. King
(D)

D) Ferndinand Richthofen

42. What is correct about normative theory ?
1. It uses deductive method.
2. It uses inductive method.

3. ltis deterministic method.

Select the correct answer from the codes

given below.
(A) 1and 3 (B) 2and 3
(C) 2and 1 (D) 1,2and 3

43. A theory which explains what ought to
be rather than what actually occurs is
called

(A) Positive theory
(B)
(C) Deterministic theory
D)

(
K-0817

Possibilistic theory

Normative theory
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44. The number of broad population/resource
regions of the world given by E.A. Akerman

45. S.A. Stouffer has proposed a migration

model which is known as
(A) Principle of least efforts
(B) Behavioural model

(C) Intervening opportunity model

(D)

D) The gravity model

46. The first complete census of population
in India was conducted in
(A) 1901 (B) 1891
(C) 1881 (D) 1871

47. The first Geography Department in India
which started teaching and research
activities at post graduate level is

(A) Chandigarh  Punjab University

(B) Varanasi B.H.U.
(C) Delhi J.N.U.
(D) Chennai Madras University

48. A Prologue to Population Geography was
written by

(A) George E. Demko
(B) Robert P. Lerkin
(C) Wilbur Zelinsky
(D) Robert Woods
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49. Among the following who is/are not
considered as expert in regional planning ?

1. R.P. Misra

2. K.V. Sundaram

3. L.S. Bhat

4. R. Vaidyanathan

Select the correct answer using the codes
given below.

(A) 1 and 2 only

(B) 1 and 4 only

(C) 3 only

(D) 4 only

50. The three important determinants of

multiplier effect are
(A) Population, land and taxation
(B) Savings, taxation and imports
(C) Imports, exports and people

(D) Land, labour and capital

51. J.G. Williamson has worked on the

problem of
(A) Capital formation
(B) Export and import
(C) Regional Disparities and National
Development
(D) Population and trade
K-0817
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52. On the basis of which of the following
criteria B.D. Pande Committee identified
the Backward States in India ?

1. Total per capita income.

2. Per capita income from industry and
mining.

3. Per capita annual consumption of
electricity.

4. Density of population.

Select the correct code.

Codes :
(A)1,2,3 (B) 1 and 4
(C) 2,3and 4 (D) 3and 4

53. The word compage was first used by
(A) Herbertson
(B) Whitlesey

(C) Amsted Linton

(D)

D) Gerison

54. A landform developed by the process of
deposition occurring towards the centre
of intermontane basins in arid and semi
arid regions is known as

(A) Playa (B) Bajada
(C) Peneplain (D) Pediment

55. Which of the following is the
characteristic of geosyncline ?

(A) Unsystematic pattern of mountain
system

(B) Mobile zones of water

(C) Tabular upland relief

(D) The side blocks of two faults
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56. Which of the following involves largely
in intensive weathering of rocks ?

(A) Joint patterns

(B) Biological patterns
(C) Rainfall pattern
(D)

D) Nature of the rock

57. Most of the rivers draining the coastal
plains of India are related to

(A) Subsequent streams
(B) Obsequent streams
(C) Resequent streams
(D)

D) Consequent streams

58. Match the following and select the correct
answer using the codes given below.

List—1 List-II
a. Potholes 1. Erosion of
alternate hard and
soft rocks

Vertical erosion
leading to valley
deepening
Kettle

b. Plunge pool 2.

c. Terrace 3.

d. Incised meander 4. Formed at the
base of waterfalls

Codes :
a b c
(A) 2 1 3
(B) 4 3 2 1
(C) 3 4 1
(D) 1 2 4 3
K-0817
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59. Assertion (A) : The moving ice velocity

increases by steepness of slope of an
area and thickness of glacial ice.

Reason (R) : The velocity decreases to
the sides owing to lesser depth of ice and
friction against the valley walls and the
bottom floor.
Codes :
(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

60. Match List —1 with List — Il and select the
correct answer using the codes given
below :

List -1
l. Angle waterfalls 1.

List-1I
South Africa
Il. Kalambo waterfalls 2. Canada

ll. Jog waterfalls 3. Venezuela
IV. Grand waterfalls 4. India
Codes :
| Il [} v
(A) 2 3 4 1
B) 3 1 4 2
C 4 2 1 3
(D) 1 3 2 4

61. The term ‘pangaea’ named by Wegener
belongs to
(A) Palaeozoic era
(B) Mesozoic era
(C) Cenozoic era
(D) Neozoic era
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62. Assertion (A) : Over the Antartica only
the ozone hole is observed.

Reason (R) : Throughout the stratosphere
the ozone depleting gases are present.
Codes :
(A) Both (A) and (R) are true
(B) (A) is true and (R) is wrong
(C) Both (A) and (R) are wrong
(D) (A)is wrong and (R) is true

63. Match List —1 with List — Il and select the
correct answer from the codes given
below :

List -1 List—1I
(Climate description) (Type of climates)
a. Three seasons
namely rainy season,
cool season and hot
dry season are occurred

1. Equatorial

b. Very hot summers, 2. Hot desert
very cold summers,
very low rainfall and

far from the sea

c. Very hot with low 3. Cold desert

rainfall
d. Very hot and rains 4. Tropical

everyday monsoon
Codes :

a b c d

(A) 3 2 1 4

(B) 4 3 2 1

C 2 4 1 3

(D) 1 3 4 2
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64. Arrange in the decreasing order of their
composition in air.

1. Hydrogen
2. Helium
3. Ozone
4. Krypton
Select the correct answer from the codes
given below.
Codes :
A1 3 2 4
B 1 2 4 3
Cc 2 3 1 4
(by1 2 3 4
65. The symbol ‘Aw’ in Koppen’s

classification of climate refers to
(A) Steppe climate

(B) Tropical Savanna climate

(C) Tropical rain forest climate

(D)

D) Monsoon climate

66. The modification of climate of
Thornthwaite’s is based on the concept of

(A) Potential evapotranspiration
(B) Effective temperature

(C) Potential precipitation

(D) Precipitation index

67. Willy-Willies are referred to
(A) Anticyclones
(B) Warm front
(C) Cold front
(D) Strong local winds
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68. Assertion (A) : The sub-tropical high
pressure belt affected by earth’s rotation
and descent of winds from higher

latitudes.

Reason (R) : It is dynamically induced
and characterised with anticyclonic
conditions.

Codes :

(A) Both (A) and (R) are true

(B) (A) is true and (R) is wrong
(C) Both (A) and (R) are wrong
(D) (A)is wrong and (R) is true

69. Assertion (A) : The bottom of the ocean
temperature is uniform from equator to poles.
Reason (R) : The decrease of rate of
temperature with increasing depth is more
rapid near the equator than towards poles.

Codes :

(A) Both (A) and (R) are true
(B) (A) is true and (R) is wrong
(C) Both (A) and (R) are wrong
(D) (A)is wrong and (R) is true

70. Which of the following statement about
salinity is not correct ?

(A) There exists a direct relationship
between the rate of evaporation and
salinity

(B) The salinity is highest at the tropics
and decreases towards poles and
equator

(C) Low salinity is found near the mouth
of a river

(D) Salinity is directly related to precipitation

71. The ocean currents originated due to
(A) Winds
(B) Salinity and density
(C) Gravitational force
(D) All of the above
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72. Which of the following factor is caused for
the depletion of rain forests in Indonesia ?

(A) Lack of proper management of forests

(B) Forest fire in peat-bags in Marshy
areas

(C) Growth of forest based industries

(D) Encroachment by urban areas

73. “There is no holiday for vegetation —
growth is rapid, uninterrupted and
continuous”. This statement applies to

(A) Tropical forests
(B) Tropical grassland
(C) Monsoon forests
(D) Temperate forests

74. Which one of the following pairs is not
correctly matched ?

(A) Autotrophs : Take energy from
inorganic sources and
fix it into energy rich

organic compound
(B) Heterotrophs : Obtain their energy

from living organism

(C) Herbivores : Organisms that
consume plants
and animals

(D) Detrivores : Obtain their energy

from dead organisms

75. The law of primate city was propounded by
(A) Carl Sauer
(B) 1. Browman

(C) Mark Jefferson

(D) Walter Christaller
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